019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 NS: {52 &) FiEG2E(5H0) -8 6 NS: B3EK FERES (EAC) -14 VP:| 12.51 7.49 Total VP: 103.23 Rank:
EW: $&5 7 3OBE(EHC) 16 EW: 251 FRUIZ(50) 8 IMP:| 26 19 4
R S _—
# 21 762 4HW6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4HE6 -680 Mean: 3NE-1 100 110 3
v J62 4HW6 -480 -500 4HW6 -480 10 7 v 9752 4SW4 -620 -470  4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: -60 NS:-5 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: -2 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 4SN-1-100 Mean: 4SN4 620 80 4 ||# 24 & A732 4SXS-2-300 Mean: 4HE-2 100 40 2
v QJ97 4SN4 620 280 3NN4 630 80 2 v 742 4SN-3-150 -30  4HE-1 50 20 5
¢ 32 Dif: -720 NS:-9 3NN3 600 80 1 + AB53 Dif: -150 NS:-7 3HE-1 50 20 1
a T2 IMP: -12 EW:-8 2CE-2 200 20 1 & AJ IMP: -4 EW:3 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 1NW-2200 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NN-2 -200 Mean: 3DS3 110 80 1
v AQ3 1HN2 110 160  1NE-3 300 40 1 v QT72 3SS-3-300 -230 2NS2 120 80 1
¢ 87654 Dif: 90 NS:1  2SN5 200 1.0 1 ¢T3 Dif: 100 NS:1  3NS-1 100 4.0 2
» 54 IMP: 3 EW:2 1NW-2 200 10 1 » 97 IMP: 3 EW:2 2NS+ 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 9987 2882 110 20 1|IN 12 ~~1 « A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 -420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CN5 600 Mean: 5CS6 620 8.0 1
v 872 4SE6 -480 -450  4SE5 450 0.0 2 v 43 3NS-1-100 280 5CS5 600 8.0 4
¢ T7 Dif: 60 NS:1 5SW6 480 1.0 1 ¢ KQ53 Dif: 700 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 2 EW:1 4SE6 480 1.0 4 & AT865 IMP: 12 EW:9 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJ654 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQ73
~~555 ~3~~~
# 29 s 185 1NS2 120 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NN3 400 Mean: 3SXE-4 800 8.0 1
v J6 1NS-1-100 o 1NS1 90 30 5 v KT32 3NS4430 460 A 00 1
o A9862 Dif: 220 NS:3 A 00 1 + AKQ Dif: -30 NS:-2 5NN5 460 0.0 1
» 196 IMP: 6 EW:3 1NS-1 100 3.0 3 » AQ65 IMP: -1 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

2 NS: =43 H BIEEE0) 4 7 NS: E&45 BEEH(BAC) 22 VP:| 4.25 15.75| Total VP: 84.71 Rank:
EW: F&H ERBIEIC) -22 EW: 3#1% ZEH5(5H0) 4 IMP:)] 0 : 19 9
R S —
# 21 762 4HW6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 -620 Mean: 3NE-1 100 110 3
v J62 4HEG6 -480 -500 4HW6 -480 10 7 v 9752 4SE4 -620 -470 4SwW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN-2 -200 Mean: 4SN4 620 80 4 ||# 24 & A732 4SN-2-100 Mean: 4HE-2 100 40 2
v QJ97 3NN3 600 280 3NN4 630 80 2 v 742 4HE-2100 -30  4HE-1 50 20 5
¢ 32 Dif: -800 NS:-10 3NN3 600 80 1 + AB53 Dif: 200 NS:-2 3HE-1 50 20 1
a T2 IMP: -13 EW:-8 2CE-2 200 20 1 & AJ IMP: -5 EW:-4 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2CS3 110 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-1-100 Mean: 3DS3 110 80 1
v AQ3 1NN2120 160  1NE-3 300 40 1 v QT72 2DS-1-100 -230 2NS2 120 80 1
¢ 87654 Dif: -10 NS:-2 2SN5 200 1.0 1 ¢T3 Dif: 0 NS:4 3NS-1 100 4.0 2
» 54 IMP: 0 EW:1  1NW-2 200 10 1 » 97 IMP: 0 EW:-4 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SEG6 -480 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS5600 Mean: 5CS6 620 8.0 1
v 872 5SW6 -480 -450  4SE5 450 0.0 2 v 43 5CS5600 280 5CS5 600 8.0 4
¢ T7 Dif: 0 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: 0 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 0 EW:1 4SE6 480 1.0 4 & AT865 IMP: 0 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS190 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 430 Mean: 3SXE-4 800 8.0 1
v J6 1NS190 o0 1NS1 90 30 5 v KT32 3NS5460 460 A 00 1
o A9862 Dif: 0 NS:3 A 00 1 + AKQ Dif: -30 NS:-1 5NN5 460 0.0 1
» 196 IMP: 0 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: -1 EW:0 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

3 NS: =it £ 1E&GH0) -1 9 NS: &5 68 $%2(FFAC) -11 VP:| 11.85 : 8.15 Total VP: 82.60 Rank:
EW: #3CHE BERREAC) 11 EW: BRECH BR SE(BEO) 1 IMP:| 18 13 10
R N S —
# 21 762 4HEG6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 -620 Mean: 3NE-1 100 110 3
v J62 4HEG6 -480 -500 4HW6 480 1.0 7 v 9752 4SE4 -620 -470  4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN4 630 Mean: 4SN4 620 80 4 ||# 24 & A732 3HE3-140 Mean: 4HE-2 100 40 2
v QJ97 3SN3140 280 3NN4 630 80 2 v 742 3HE3 -140 -30  4HE- 50 20 5
¢ 32 Dif: 490 NS:8 3NN3 600 80 1 + AB53 Dif: 0 NS:-3 3HE-1 50 20 1
a T2 IMP: 10 EW:4 2CE-2 200 20 1 & AJ IMP: 0 EW:3 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 90 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2NN2 120 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-1-100 Mean: 3DS3 110 80 1
v AQ3 1HW-2200 160  1NE-3 300 40 1 v QT72 3DS3 110 -230 2NS2 120 80 1
¢ 87654 Dif: -80 NS:-1 2SN5 200 1.0 1 ¢T3 Dif: -210 NS:4  3NS-1 100 4.0 2
» 54 IMP: -2 EW:-1 1NW-2 200 10 1 » 97 IMP: -5 EW:-8 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 a 963 4SE5 450 Mean: 4SE4 420 1.0 6 |[|# 28 a 32 5D8:1-100 Mean: 5CS6 620 8.0 1
v 872 3NW7 -520 -450 4SE5 450 0.0 2 v 43 4CS5150 280 5CS5 600 8.0 4
¢ T7 Dif: 70 NS:0 5SW6 480 1.0 1 ¢ KQ53 Dif: -250 NS:-9 5CN5 600 8.0 1
» Q9765 IMP: 2 EW:2 4SE6 480 1.0 4 & AT865 IMP: -6 EW:4 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS190 Mean: 1NS2 120 3.0 3 ||# 30 4 52 5NN5 460 Mean: 3SXE-4 800 8.0 1
v J6 1NS-1-100 o0 1NS1 90 30 5 v KT32 3NS4430 460 A 00 1
o A9862 Dif: 190 NS:3 A 00 1 + AKQ Dif: 30 NS:0 5NN5 460 0.0 1
» 196 IMP: 5 EW:3 1NS-1 100 3.0 3 » AQ65 IMP: 1 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 > & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ »wKT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

4 NS: ZFHE SFHAEEEO0) 4 1 3 NS: B4 BiHER(EAC) -19 VP:| 15.52 : 4.48 Total VP: 63.77 Rank:
EW: BEABSC #akE(FHC) 13 EW: B&R E5RF(BHO) 4 IMP:| 27 : 9 13
R S —
# 21 762 4HW6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 -620 Mean: 3NE-1 100 110 3
v J62 4HEG6 -480 -500 4HW6 480 1.0 7 v 9752 4SE5 -650 -470  4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 30 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 1 EW:5 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 2CE-2200 Mean: 4SN4 620 80 4 ||# 24 & A732 4HE-150 Mean: 4HE-2 100 40 2
v QJ97 4SN4 620 280  3NN4 630 80 2 v 742 4HE-150 -30  4HE- 50 20 5
¢ 32 Dif: -420 NS:-2 3NN3 600 80 1 + AB53 Dif: 0 NS:2 3HE-1 50 20 1
a T2 IMP: -9 EW:-8 2CE-2 200 20 1 & AJ IMP: 0 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2HW-3 300 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-2-200 Mean: 3DS3 110 80 1
v AQ3 2CS3110 160  1NE-3 300 40 1 v QT72 4SS-5-500 -230 2NS2 120 80 1
¢ 87654 Dif: 190 NS:4 2SN5 200 1.0 1 ¢T3 Dif: 300 NS:1 3NS-1 100 4.0 2
» 54 IMP: 5 EW:2 1NW-2 200 10 1 » 97 IMP: 7 EW:7 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 ¢ AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 9987 2882 110 20 1|IN 12 ~~1 « A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 -420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS5600 Mean: 5CS6 620 8.0 1
v 872 4SE6 -480 -450  4SE5 450 0.0 2 v 43 6CS-1-100 280 5CS5 600 8.0 4
¢ T7 Dif: 60 NS:1 5SW6 480 1.0 1 ¢ KQ53 Dif: 700 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 2 EW:1 4SE6 480 1.0 4 & AT865 IMP: 12 EW:9 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS-3-300 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS5460 Mean: 3SXE-4 800 8.0 1
v J6 A o0 1NS1 90 30 5 v KT32 A 460 A 00 1
o A9862 Dif: 0 NS:-7 A 00 1 + AKQ Dif: 0 NS:0 5NN5 460 0.0 1
» 196 IMP: 0 EW:0 1NS-1 100 3.0 3 » AQ65 IMP: 0 EW:0 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

5 NS: EFE BEEHEE0) -1 1 0 NS: BiE# KR (BAC) -7 VP:| 1218 : 7.82 Total VP: 107.95 Rank:
EW: &#% HRE&EAC) 7 EW: #H/NB =& (5F0) 1 IMP:| 28 22 3
R S —
# 21 762 4HW6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 -620 Mean: 3NE-1 100 110 3
v J62 6DE6 -920 -500 4HW6 -480 10 7 v 9752 4SE4 -620 -470 4SwW4 620 -40 1
¢ J3 Dif: 440 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 10 EW:9 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN-1-100 Mean: 4SN4 620 80 4 ||# 24 & A732 3HE-150 Mean: 4HE-2 100 40 2
v QJ97 4SN4 620 280 3NN4 630 80 2 v 742 4HE-150 -30  4HE- 50 20 5
¢ 32 Dif: -720 NS:-9 3NN3 600 80 1 + AB53 Dif: 0 NS:2 3HE-1 50 20 1
a T2 IMP: -12 EW:-8 2CE-2 200 20 1 & AJ IMP: 0 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 1NE-3 300 Mean: 2HW-3 300 40 1 ||# 26 o 18754 4HN-4 -400 Mean: 3DS3 110 80 1
v AQ3 2CS4130 160  1NE-3 300 40 1 v QT72 4HN-4 -400 -230 2NS2 120 80 1
¢ 87654 Dif: 170 NS:4 2SN5 200 1.0 1 ¢T3 Dif: 0 NS:-5 3NS-1 100 4.0 2
» 54 IMP: 5 EW:1  1NW-2 200 10 1 » 97 IMP: 0 EW:5 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 9987 2882 110 20 1|IN 12 ~~1 « A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE5 -450 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS6 620 Mean: 5CS6 620 8.0 1
v 872 4SE4 -420 -450  4SE5 450 0.0 2 v 43 6CXS-1-200 280 5CS5 600 8.0 4
¢ T7 Dif: -30 NS:0 5SW6 480 1.0 1 ¢ KQ53 Dif: 820 NS:8 5CN5 600 8.0 1
» Q9765 IMP: -1 EW:-1 4SE6 480 1.0 4 & AT865 IMP: 13 EW:10 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJB54 S 5~~~2 e
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS190 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 430 Mean: 3SXE-4 800 8.0 1
v J6 1NS190 o0 1NS1 90 30 5 v KT32 3SXE-4 800 460 A 00 1
o A9862 Dif: 0 NS:3 A 00 1 + AKQ Dif: -370 NS:-1  5NN5 460 0.0 1
» 196 IMP: 0 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: -9 EW:-8 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||v QJ654 w7 3NN3 400 2.0 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

6 NS: Z3¥/K BREIREFIC) -16 1 NS: fi5Z8) $iHiSE(BHO) -8 VP:| 7.49 12.51| Total VP: 100.24 Rank:
EW: SEE 5RILUZE(EHO) 8 EW: bhE 34 (F1C) 16 IMP:| 19 26 5
R S N
# 21 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4HEG6 680 Mean: 3NE-1 100 110 3
v J62 4HW6 480 -500 4HW6 480 1.0 7 v 9752 4SW4 620 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 60 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 2 EW:5 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 4SN-1100 Mean: 4SN4 620 80 4 ||# 24 & A732 4SXS-2300 Mean: 4HE-2 100 40 2
v QJ97 4SN4 -620 280  3NN4 630 80 2 v 742 4SN-3150 -30  4HE-1 50 20 5
¢ 32 Dif: 720 NS:8 3NN3 600 80 1 + AB53 Dif: 150 NS:-3 3HE-1 50 20 1
a T2 IMP: 12 EW:9 2CE-2 200 20 1 & AJ IMP: 4 EW:7 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 1NW-2-200 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NN-2200 Mean: 3DS3 110 80 1
v AQ3 1HN2 -110 160  1NE-3 300 40 1 v QT72 3SS-3300 -230 2NS2 120 80 1
¢ 87654 Dif: -90 NS:-2 2SN5 200 1.0 1 ¢T3 Dif: -100 NS:-2 3NS-1 100 4.0 2
» 54 IMP: -3 EW:-1 1NW-2 200 10 1 » 97 IMP: -3 EW:-1 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CN5 -600 Mean: 5CS6 620 8.0 1
v 872 4SE6 480 -450  4SE5 450 0.0 2 v 43 3NS-1100 280 5CS5 600 8.0 4
¢ T7 Dif: -60 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: -700 NS:-9 5CN5 600 8.0 1
» Q9765 IMP: -2 EW:-1 4SE6 480 1.0 4 & AT865 IMP: -12 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS2 -120 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NN3 -400 Mean: 3SXE-4 800 8.0 1
v J6 1NS-1100 o 1NS1 90 30 5 v KT32 3NS4-430 460 A 00 1
o A9862 Dif: -220 Ns:-3 A 00 1 + AKQ Dif: 30 NS:-1  5NN5 460 0.0 1
» 196 IMP: -6 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: 1 EW:2 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

7 NS: F4EF BEEBHEAC) 22 2 NS: /%% MRS (BEO) -4 VP:| 15.75 : 4.25 Total VP: 126.71 Rank:
EW: B R Z2X#EH0) 4 EW: K& E T2 (FAC) -2 IMP: 19 : 0 1
R S .
# 21 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 4HE6 480 -500 4HW6 480 1.0 7 v 9752 4SE4 620 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN-2200 Mean: 4SN4 620 80 4 ||# 24 & A732 4SN-2100 Mean: 4HE-2 100 40 2
v QJ97 3NN3 -600 280 3NN4 630 80 2 v 742 4HE-2-100 -30  4HE-1 50 20 5
¢ 32 Dif: 800 NS:8 3NN3 600 80 1 + AB53 Dif: 200 NS:4 3HE-1 50 20 1
a T2 IMP: 13 EW:10 2CE-2 200 20 1 & AJ IMP: 5 EW:2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2CS3-110 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-1100 Mean: 3DS3 110 80 1
v AQ3 1NN2 -120 160  1NE-3 300 40 1 v QT72 2DS-1100 -230 2NS2 120 80 1
¢ 87654 Dif: 10 NS:-1  2SN5 200 1.0 1 ¢T3 Dif: 0 NS:4 3NS-1 100 4.0 2
» 54 IMP: 0 EW:2 1NW-2 200 10 1 » 97 IMP: 0 EW:-4 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE6 480 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS5-600 Mean: 5CS6 620 8.0 1
v 872 5SW6 480 -450  4SE5 450 0.0 2 v 43 5CS5-600 280 5CS5 600 8.0 4
¢ T7 Dif: 0 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: 0 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 0 EW:1 4SE6 480 1.0 4 & AT865 IMP: 0 EW:-8 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJB54 S 5~~~2 e
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS1-90 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 -430 Mean: 3SXE-4 800 8.0 1
v J6 1INS1-90 0 1NS1 90 30 5 v KT32 3NS5-460 460 A 00 1
o A9862 Dif: 0 NS:3 A 00 1 + AKQ Dif: 30 NS:-0 5NN5 460 0.0 1
» 196 IMP: 0 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: 1 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

8 NS: #PREEHE B EEEO) -12 1 1 NS: % 7 EEK (FC) 28 VP:| 2.16 17.84| Total VP: 77.82 Rank:
EW: JE#E2: H4E56BAC) -28 EW: BHELR TRE(E(FFO) 13 IMP:| 10 40 12
R N S —
# 21 762 4HEG6 -480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 -620 Mean: 3NE-1 100 110 3
v J62 4HW6 -480 -500 4HW6 480 1.0 7 v 9752 3NE-1100 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: -720 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: -12 EW:-11 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NS-2-200 Mean: 4SN4 620 80 4 ||# 24 & A732 4SS8:3-150 Mean: 4HE-2 100 40 2
v QJ97 4SN4 620 280 3NN4 630 80 2 v 742 4HE-150 -30  4HE- 50 20 5
¢ 32 Dif: -820 NS:-10 3NN3 600 80 1 + AB53 Dif: -200 NS:-3 3HE-1 50 20 1
a T2 IMP: -13 EW:-8 2CE-2 200 20 1 & AJ IMP: -5 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2SS2 110 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3SS-4 -400 Mean: 3DS3 110 80 1
v AQ3 1NE-2200 160 1NE-3 300 40 1 v QT72 2NS-1-100 -230 2NS2 120 80 1
¢ 87654 Dif: -90 NS:-2 2SN5 200 1.0 1 ¢T3 Dif: -300 NS:-5 3NS-1 100 4.0 2
» 54 IMP: -3 EW:-1 1NW-2 200 10 1 » 97 IMP: -7 EW:-4 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 -420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 3NS3 600 Mean: 5CS6 620 8.0 1
v 872 4SE6 -480 -450  4SE5 450 0.0 2 v 43 5CS5600 280 5CS5 600 8.0 4
¢ T7 Dif: 60 NS:1 5SW6 480 1.0 1 ¢ KQ53 Dif: 0 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 2 EW:1 4SE6 480 1.0 4 & AT865 IMP: 0 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS2 120 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 430 Mean: 3SXE-4 800 8.0 1
v J6 1NS-2-200 o 1NS1 90 30 5 v KT32 3NS4430 460 A 00 1
o A9862 Dif: 320 NsS:3 A 00 1 + AKQ Dif: 0 NS:-1 5NN5 460 0.0 1
» 196 IMP: 8 EW:5 1NS-1 100 3.0 3 » AQ65 IMP: 0 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

9 NS: B5te it 88 #EC) -11 3 NS: EHiH 2242 (EHO0) -1 VP:| 8.15 : 11.85| Total VP: 81.65 Rank:
EW: Bepgs PR JEBHO) 1 EW: $CEH 5527 (FAC) 11 IMP:| 13 18 1
R N S .
# 21 762 4HE6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 4HE6 480 -500 4HW6 480 1.0 7 v 9752 4SE4 620 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN4 -630 Mean: 4SN4 620 80 4 ||# 24 & A732 3HE3 140 Mean: 4HE-2 100 40 2
v QJ97 3SN3-140 280 3NN4 630 80 2 v 742 3HE3140 -30  4HE- 50 20 5
¢ 32 Dif: -490 NS:-4 3NN3 600 80 1 « A653 Dif: 0 NS:-3 3HE-1 50 20 1
a T2 IMP: -10 EW:-8 2CE-2 200 20 1 & AJ IMP: 0 EW:3 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 90 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2NN2 -120 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-1100 Mean: 3DS3 110 80 1
v AQ3 1HW-2 -200 160  1NE-3 300 40 1 v QT72 3DS3 -110 -230  2NS2 120 80 1
¢ 87654 Dif: 80 NS:1 2SN5 200 1.0 1 ¢T3 Dif: 210 NS:8 3NS-1 100 4.0 2
» 54 IMP: 2 EW:1 1NW-2 200 10 1 » 97 IMP: 5 EW:-4 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 110 20 1IN 12~~1 9 A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 a 963 4SE5450 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5DS-1100 Mean: 5CS6 620 8.0 1
v 872 3NW7 520 -450 4SE5 450 0.0 2 v 43 4CS5-150 280 5CS5 600 8.0 4
¢ T7 Dif: -70 NS:-2 5SW6 480 1.0 1 + KQ53 Dif: 250 NS:-4 5CN5 600 8.0 1
» Q9765 IMP: -2 EW:-0 4SE6 480 1.0 4 & AT865 IMP: 6 EW:9 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
¢ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS1-90 Mean: 1NS2 120 3.0 3 ||# 30 4 52 5NN5 -460 Mean: 3SXE-4 800 8.0 1
v J6 1NS-1100 © 1NS1 90 30 5 v KT32 3NS4-430 460 A 00 1
o A9862 Dif: 190 NsS:-3 A 00 1 + AKQ Dif: -30 NS:-1 5NN5 460 0.0 1
» 196 IMP: -5 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: -1 EW:-0 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 v7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 > & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ »wKT84 N 33313 wA98
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 O NS: B 2R EIC) -7 5 NS: E58 BEE T (BH0) 1 VP:| 7.82 12.18| Total VP: 95.60 Rank:
EW: #H/NE &% FEGEO) 1 EW: £Z#% HMEkk(BAC) 7 IMP:| 22 28 6
R S .
# 21 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 6DE6 920 -500 4HW6 480 1.0 7 v 9752 4SE4 620 -470 4SW4 620 -40 1
¢ J3 Dif: -440 NS:-9 4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: -10 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN-1 100 Mean: 4SN4 620 80 4 ||# 24 & A732 3HE-1-50 Mean: 4HE-2 100 40 2
v QJ97 4SN4 -620 280  3NN4 630 80 2 v 742 4HE-1-50 -30  4HE-1 50 20 5
¢ 32 Dif: 720 NS:8 3NN3 600 80 1 + AB53 Dif: 0 NS:2 3HE-1 50 20 1
a T2 IMP: 12 EW:9 2CE-2 200 20 1 & AJ IMP: 0 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 1NE-3 -300 Mean: 2HW-3 300 40 1 ||# 26 o 18754 4HN-4 400 Mean: 3DS3 110 80 1
v AQ3 2CS4-130 160  1NE-3 300 40 1 v QT72 4HN-4 400 -230 2NS2 120 80 1
¢ 87654 Dif: 170 NS:-1 2SN5 200 1.0 1 ¢T3 Dif: 0 NS:-5 3NS-1 100 4.0 2
» 54 IMP: -5 EW:-4 1NW-2 200 10 1 » 97 IMP: 0 EW:5 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE5 450 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS6 -620 Mean: 5CS6 620 8.0 1
v 872 4SE4 420 -450  4SE5 450 0.0 2 v 43 6CXS-1200 280 5CS5 600 8.0 4
¢ T7 Dif: 30 NS:1  5SW6 480 1.0 1 ¢ KQ53 Dif: -820 NS:-10 5CN5 600 8.0 1
» Q9765 IMP: 1 EW:-0 4SE6 480 1.0 4 & AT865 IMP: -13 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS1-90 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 -430 Mean: 3SXE-4 800 8.0 1
v J6 1INS1-90 0 1NS1 90 30 5 v KT32 3SXE-4 -800 460 A 00 1
o A9862 Dif: 0 NS:3 A 00 1 + AKQ Dif: 370 NS:8 5NN5 460 0.0 1
» 196 IMP: 0 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: 9 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 1 NS: ¢ 1 =ZRKEAC) 28 8 NS: FRELHE BE M EE (BHO) -1 VP:| 17.84 : 2.16 Total VP: 84.95 Rank:
EW: BRIGLER TRBIZ(5H0) 12 EW: JE#R5E =65 (FAC) -2 IMP:| 40 10 8
R N S .
# 21 762 4HE6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 4HW6 480 -500 4HW6 480 1.0 7 v 9752 3NE-1-100 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 720 NS:11 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 12 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NS-2200 Mean: 4SN4 620 80 4 ||# 24 & A732 4S8-3150 Mean: 4HE-2 100 40 2
v QJ97 4SN4 -620 280  3NN4 630 80 2 v 742 4HE-1-50 -30  4HE-1 50 20 5
¢ 32 Dif: 820 NS:8 3NN3 600 80 1 + AB53 Dif: 200 NS:2 3HE-1 50 20 1
a T2 IMP: 13 EW:10 2CE-2 200 20 1 & AJ IMP: 5 EW:3 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2SS2 -110 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3SS-4400 Mean: 3DS3 110 80 1
v AQ3 1NE-2 -200 160  1NE-3 300 40 1 v QT72 2NS-1100 -230 2NS2 120 80 1
¢ 87654 Dif: 90 NS:1  2SN5 200 1.0 1 ¢T3 Dif: 300 NS:4 3NS-1 100 4.0 2
» 54 IMP: 3 EW:2 1NW-2 200 10 1 » 97 IMP: 7 EW:5 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 9987 2882 110 20 1|IN 12 ~~1 « A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 3NS3-600 Mean: 5CS6 620 8.0 1
v 872 4SE6 480 -450  4SE5 450 0.0 2 v 43 5CS5-600 280 5CS5 600 8.0 4
¢ T7 Dif: -60 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: 0 NS:8 5CN5 600 8.0 1
» Q9765 IMP: -2 EW:-1 4SE6 480 1.0 4 & AT865 IMP: 0 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJ654 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQ73
~~555 ~3~~~
# 29 s 185 1NS2 -120 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS4 -430 Mean: 3SXE-4 800 8.0 1
v J6 1NS-2200 o 1NS1 90 30 5 v KT32 3NS4-430 460 A 00 1
o A9862 Dif: -320 NsS:-5 A 00 1 + AKQ Dif: 0 NS:-1 5NN5 460 0.0 1
» 196 IMP: -8 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: 0 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W~~~ ~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 2 NS: JsakE Ha0MFEO0) -15 14 NS: Z-25% BHEIE (BAC) 28 VP:| 1.70 18.30 | Total VP: 85.65 Rank:
EW: 2l{E3% FFZHEAC) -28 EW: Rocky Tam Barney L IMP:| 6 : 39 7
R S _—
# 21 # 762 4HW6 -480 Mean: 5DE6 420 2.0 1 |[|# 22 # 654 3NE-1 100 Mean: 3NE-1 100 110 3
v J62 5DE6 -420 -500 4HW6 480 1.0 7 v 9752 3NE-1100 -470 4SW4 620 -40 1
¢ J3 Dif: -60 NS:1 4HE6 480 1.0 5 + K93 Dif: 0 NS:11 4SE4 620 -40 8
» KQJB5 IMP: -2 EW:-2 6DE6 920 9.0 1 & 765 IMP: 0 EW:-11 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 4SN-1-100 Mean: 4SN4 620 80 4 ||# 24 & A732 4HE-150 Mean: 4HE-2 100 40 2
v QJ97 3NN4 630 280 3NN4 630 80 2 v 742 4HE-2100 -30  4HE-1 50 20 5
¢ 32 Dif: -730 NS:-9  3NN3 600 80 1 + AB53 Dif: -50 NS:2 3HE-1 50 20 1
a T2 IMP: -12 EW:-8 2CE-2 200 20 1 & AJ IMP: -2 EW:-4 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2CS290 Mean: 2HW-3 300 40 1 ||# 26 o 18754 2SXE2 -670 Mean: 3DS3 110 80 1
v AQ3 2SN5200 160  1NE-3 300 40 1 v QT72 2NS2120 -230 2NS2 120 80 1
¢ 87654 Dif: 110 NS:-2 2SN5 200 1.0 1 ¢T3 Dif: -790 NS:-10 3NS-1 100 4.0 2
» 54 IMP: -3 EW:-1 1NW-2 200 10 1 » 97 IMP: -13 EW:-8 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 -420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 3CN5 150 Mean: 5CS6 620 8.0 1
v 872 4SE4 -420 -450  4SE5 450 0.0 2 v 43 3NS-1-100 280 5CS5 600 8.0 4
¢ T7 Dif: 0 NS:1 5SWé 480 1.0 1 ¢ KQ53 Dif: 250 NS:-4 5CN5 600 8.0 1
» Q9765 IMP: 0 EW:-1 4SE6 480 1.0 4 & AT865 IMP: 6 EW:9 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS-1-100 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NN3 400 Mean: 3SXE-4 800 8.0 1
v J6 INS2120 o 1NS1 90 30 5 v KT32 3NS4430 460 A 00 1
o A9862 Dif: -220 Ns:-3 A 00 1 + AKQ Dif: -30 NS:-2 5NN5 460 0.0 1
» 196 IMP: -6 EW:-3 1NS-1 100 3.0 3 » AQ65 IMP: -1 EW:1 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 3 NS: BERgiT ¥RHEAUEAC) -13 4 NS: &35 ¥riHE (BE0) 4 VP:| 4.48 15.52| Total VP: 46.42 Rank:
EW: B&R EREEGHO) 4 EW: BRAKSC #5kiE (BAC) 13 IMP:| 9 27 14
R S .
# 21 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 4HE6 480 -500 4HW6 480 1.0 7 v 9752 4SE5 650 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: -30 NS:-5 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: -1 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 2CE-2-200 Mean: 4SN4 620 80 4 ||# 24 & A732 4HE-1-50 Mean: 4HE-2 100 40 2
v QJ97 4SN4 -620 280  3NN4 630 80 2 v 742 4HE-1-50 -30  4HE-1 50 20 5
¢ 32 Dif: 420 NS:8 3NN3 600 80 1 + AB53 Dif: 0 NS:2 3HE-1 50 20 1
a T2 IMP: 9 EW:2 2CE-2 200 20 1 & AJ IMP: 0 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
¢ 74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2HW-3-300 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-2200 Mean: 3DS3 110 80 1
v AQ3 2CS3-110 160  1NE-3 300 40 1 v QT72 48S-5500 -230 2NS2 120 80 1
¢ 87654 Dif: 190 NS:-2 2SN5 200 1.0 1 ¢T3 Dif: -300 NS:-7 3NS-1 100 4.0 2
» 54 IMP: -5 EW:-4 1NW-2 200 10 1 » 97 IMP: -7 EW:-1 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 ||e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 9987 2882 110 20 1|IN 12 ~~1 « A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS5-600 Mean: 5CS6 620 8.0 1
v 872 4SE6 480 -450  4SE5 450 0.0 2 v 43 6CS-1100 280 5CS5 600 8.0 4
¢ T7 Dif: -60 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: -700 NS:-9 5CN5 600 8.0 1
» Q9765 IMP: -2 EW:-1 4SE6 480 1.0 4 & AT865 IMP: -12 EW:-8 3NS3 600 8.0 1
a 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJ654 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQ73
~~555 ~3~~~
# 29 s 185 1NS-3300 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NS5-460 Mean: 3SXE-4 800 8.0 1
v J6 A o0 1NS1 90 30 5 v KT32 A 460 A 00 1
o A9862 Dif: 0 NS:-0 A 00 1 + AKQ Dif: 0 NS:-0 5NN5 460 0.0 1
» 196 IMP: 0 EW:7 1NS-1 100 3.0 3 » AQ65 IMP: 0 EW:-0 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 » & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




019FE = g > FMHERE 2B 2 —> RY

#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

1 4 NS: B4 BEREIEEAC) 28 12 NS: JFFaEE HH60M(BEO) -1 VP:| 18.30 : 1.70 Total VP: 116.70 Rank:
EW: Rocky Tam Barney Lui(5H EW: BHER 2RI (HC) -2 IMP:| 39 : 6 2
R S —
# 21 # 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[|# 22 # 654 3NE-1-100 Mean: 3NE-1 100 110 3
v J62 5DE6 420 -500 4HW6 480 1.0 7 v 9752 3NE-1-100 -470 4SW4 620 -40 1
¢ J3 Dif: 60 NS:2 4HE6 480 1.0 5 + K93 Dif: 0 NS:11 4SE4 620 -40 8
» KQJB5 IMP: 2 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:-11 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 4SN-1100 Mean: 4SN4 620 80 4 ||# 24 & A732 4HE-1-50 Mean: 4HE-2 100 40 2
v QJ97 3NN4 -630 280  3NN4 630 80 2 v 742 4HE-2-100 -30  4HE-1 50 20 5
¢ 32 Dif: 730 NS:8 3NN3 600 80 1 + AB53 Dif: 50 NS:4 3HE-1 50 20 1
a T2 IMP: 12 EW:9 2CE-2 200 20 1 & AJ IMP: 2 EW:-2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2CS2-90 Mean: 2HW-3 300 40 1 ||# 26 o 18754 2SXE2 670 Mean: 3DS3 110 80 1
v AQ3 2SN5-200 160  1NE-3 300 40 1 v QT72 2NS2-120 -230 2NS2 120 80 1
¢ 87654 Dif: 110 NS:1  2SN5 200 1.0 1 ¢T3 Dif: 790 NS:8 3NS-1 100 4.0 2
» 54 IMP: 3 EW:2 1NW-2 200 10 1 » 97 IMP: 13 EW:10 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE4 420 Mean: 4SE4 420 1.0 6 ||# 28 a 32 3CN5 -150 Mean: 5CS6 620 8.0 1
v 872 4SE4 420 -450  4SE5 450 0.0 2 v 43 3NS-1100 280 5CS5 600 8.0 4
¢ T7 Dif: 0 NS:1 5SWé 480 1.0 1 ¢ KQ53 Dif: -250 NS:-9 5CN5 600 8.0 1
» Q9765 IMP: 0 EW:-1 4SE6 480 1.0 4 & AT865 IMP: -6 EW:4 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
+ K98 ¢ 32 ¢ T9874 ¢ AJB2 6CS-1 100 9.0 1
» J42 & K3 » & 942 5DS-1 100 9.0 1
POVEN AT TV PN L AQJS 3NS-1 4100 9.0 2
N ~1~~~ »Q9 N 5~~~2 v KT86 6CXS-1 200 -10.0 1
S ~ 1~~~ ¢AQJG54 S 5~~~2 o
E ~~555 aAT8 E ~31~~ &KQJ73
~~555 ~3~~~
# 29 s 185 1NS-1 100 Mean: 1NS2 120 3.0 3 ||# 30 4 52 3NN3 -400 Mean: 3SXE-4 800 8.0 1
v J6 1NS2-120 o 1NS1 90 30 5 v KT32 3NS4-430 460 A 00 1
o A9862 Dif: 220 NS:3 A 00 1 + AKQ Dif: 30 NS:-1  5NN5 460 0.0 1
» 196 IMP: 6 EW:3 1NS-1 100 3.0 3 » AQ65 IMP: 1 EW:2 3NS5 460 0.0 2
s K4 N » J632 1NS-2 200 5.0 1 ||a 9873 » KQ64 3NS4 430 1.0 7
v Q753 v A92 1NS-3 300 7.0 1 ||e QJ654 w7 3NN3 400 20 2
o KJT + 43 + JT53 * 642
» K542 & QJ73 > & KJ743
®eVeN oAQO7 ®OVEN o AT
N ~2~1~ o KT84 N 33313 wA9
S ~2~1~ Q75 S 33313 987
E 3~1~1 aA8 E ~~~~~ & 1982
2~1~1 W -~~~




